17. lNoka3HnKOBI PIBHAHHA
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17.2." Po3B’sikiTh PiBHAHHA:
1) 0,4 *°=1; 7) 100% =0,0110;
2 (2) -5 o {2 o2 125
5 3 5 8 ) 64
x 2 x~-1 x-1 1 2x+5
3) 0,7 =2—; 9) 2.3 T =—6""
49 36
8. o
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17.3." Po3B’siKiTh piBHAHHA:
1) 8*** + 8° = 80; T+ 48T =77
2) 4**1 + 4%~ 2 = 260; 5) 5 + T+5° "% = 160;
3) 2**4 - 2* = 120; 6)6**'' — 4.6 =192,
17.4.° PosB’siakiTh pIBHAHHA:
1) 5**! + 5 = 150; 3) 2+ 4.7 =347;
2) 2 + 2*7% = 18; 4) 4* — 34" 2% = 52,
17.5." Po3B’s3kiTh DiBHAHHSA:
1) 2% - 6-2* + 8 = 0; 3) 25 — §* = 20="0;
2)9"-6-3"—-27=0; 4)100+0,3* +91:0,3* -9 =0.
17.6." Poap’siskiTh pIBHAHHSA:
1) 6* - 3.6 - 18 = 0; 2)2:4"-9-2"+4 =0,
17.7." Po3B’sikiTh DiBHAHHSA!
3
1)%- 31 _g81'4; 2) 4%+3%*1 = 0,25+12% 1
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